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Part A:
Directions: In questions 1-10, each item consists of an incomplete sentence. Below the sentence are
four choices, marked (1), (2), (3), and (4). You should find the one choice which best completes the

sentence. Mark your choice on the answer sheet.

1- Tam not very pleased ----- the mark I got in last week’s exam.

1) of 2) from 3) with 4) by
2- Can you check my paper to see if I'Ve <-onex any mistakes.
1) been 2) put 3) made 4) performed
3- To answer accurately is more important than —-----— )
1) finishing quickly 2) to finish quickly 3) a quick finish 4) your quick finish
4- Not until a student has mastered algebra ----~-- to understand the principles of geometry, trigonometry, and
physics.
1) begins 2) he can begin 3) he begins 4) can he begin
3- If one of the participants in a conversation wonders what ~—-——- no real communication has taken place.
1) the other person said 2) did the other person say
3) said the other person 4) was the other person saying
6- I'm like Dad, whereas my sister takes ----—- Mum.
1)in 2) on 3) over 4) after
7- These ----—-- for the new monument were copied from old books.
1) designs 2) projects 3) planes 4) devices
8- Isit mmmee- you're going abroad for your holiday?
1) real 2) true 3) right 4) correct
9- A e is something that you are given because you have done something useful or good.
1) reward 2) luggage 3) damage 4) punishment
10-If you ~we-vo- that something is true, you suggest that it is true without actually saying so.
1) contradict 2) consider 3) ignore 4) imply
Part B:

Directions: (Questions 11-15) In the following letter some words or phrases are missing. Under the
letter there are four choices for each item marked (1), (2), (3), and (4). You should find the one
choice which best fits in the blanks. Mark your choice on the answer sheet.

Dear Henderson ‘

I have been working as a librarian Jor two years at the General Records office, but I do not feel that
I'wish to make this my (~——-11--),

A friend recently told me about a course that the Oxford Business School (—--1 2-—-), and it

(-—13-—) most interesting. I am told that employers respect this college and its diploma.

In order to follow this course I would need a (—--14——) of approximately $200. Could I make an
appointment with you to (~———-15----) the Ppossibility of this?

I ook forward to hearing from you.

Yours Sincerely.
11-1) work 2) profession 3) career 4) task
12- 1) offers 2) delivers 3) gives 4) organizes
13-1) expects 2) sounds 3) feels 4) reveals
14-1) loan 2) credit 3) cash 4) some

15-1) make 2) bargain 3) argue 4) discuss



Y asmio (VYO US) s 0L

16-,

17-

18

19-

20-

Read the following passage and answer quoestions 16 through 20.

Theoretically, if an item is to withstand a prescribed stress, making its strength strong enough
to withstand three, four, or five times that stress would reduce the number of failures and accidents; that
is. a structure or container that had a safety factor of 4 would fail half as frequently as one that had a
safety factor of 2. In practice, the inadequacies and uncertainties in use of safety factors led to a
refinement known as margin of safety.

A safety factor is expressed as the ratio of strength to stress. Initially, strength was nominal
ultimate strength of the part: the average or prescribed value at which it would fail completely. However,
it was found that the strength of a specific material was not constant but would differ from any of that

“kind. Differences will occur in the composition of the material involved, manufacturing and assembly,
environment, er in usage. As a result, failure will occur when stress becomes greater than strength. Using
nominal or prescribed strengths and stresses, normally S/L was made so large there was no failure. Now,
mininium strength/maximum stress may be stipulated. By this means, which is not unusual in aerospace

- systems, it is possible to have a safety factor of 1.0 or 1.25. Such a safety factor as low as 1.25 would
indicate a safety margin of-0.25.

Mark the best choice on your answer sheet:

Séfety_ factor may be defined as --—---- . _
1) strength divided by stress 2) prescribed strength multiplied by a factor of 2, 3, or 4
3) the ratio of prescribed stress to strength 4) nominal ultimate stress to half the prescribed strength
‘We understand from thebpa'ssagc that if a part is to withstand a prescribed stress ------ .
1) the safety factor must be at least equal to 1
2) all the parts’ must be used under similar conditions
3) the prescribed stress must be reduced by half the strength
4j the compositjon of the material used in similar parts must be given variety
~The variations observed in the strength of parts leading to total failure stem from -------- .
1) constant usage conditions 2) discrepancies in production processes
3) variations in the composiotion of materials 4)both aand b
The undérlined "which"(in line 7 paragraph 2)refers 10 --v--.
1)-failure 2) maximum stress 3) minimum strength 4) stipulating a safety margin
The differehce betwgen the concepts of safety factor and safety margin lies in the fact that ------ .
' 1) the latter cannot be used in aerospace technology while the latter can
2) the latter is the ratio of minimum strength to maximum stress while the former is the ratio of strength to stress
3) the former'is the ratio of nominal strength to prescribed stress while the latter is the same ratio multiplied by a
constant factor '
4) the former is usually made large enough to cancel any possibility of fajlure while the latter is reduced to a minimum
by a factor of 0.25 7 '
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Read the following passage and answer questions 21 through 26.

The purpose of ISO 9000 was not to develop another quality standard that companies would use
as the ultimate or only measuring tool for improving quality. Rather, 1SO standards merely provide a
‘basic set of guidelines that seek to help the individual company to establish a quality management system
that will provide a framework or a foundation for the interactions that occur between each of the
company’s business operations and their customer. As a stand-alone document, the ISO standards define
a basic set of requirements that must be apparent, available, and implemented. Requirements such as
documented quality manuals, documented procedures for a limited number of specific processes (such
as management review, purchasing, contract review, calibration, etc.), and the availability of specific
quality records that provide objective evidence that the quality system works are included in this basic
set of requirements. Past these fundamental issues, the ISO standards let the company, and/or the
company’s contract with its customer(s}), decide what is to be included, documented, and maintained in
the company’s defined quality management system.

The most critical piece of the ISO implementation puzzle is for the individual company to identify
and document their processes as they actually occur, not the way they would like the process to happen.
Past the specific 1SO standard and contractual requirements, the primary focus of ISO 9000 is for a
company to consistently do what they have documented and to be able to show that the implemented
quality system has established a continuous improvement discipline that is based on preventive measures.

Mark the best choice on your answer sheet:

We understand from paragraph 1 that ISO 9000 -------- .

1) is 10 be used as a measuring tool

2) dismisses the company’s interactions with customers

3) is meant 10 aid companies develop their own quality management systems

4) provides a basic set of quality standards aimed at quality improvemént

"Availability of specific quality records® is ------ .

1) the requirement that quality measures must be included in contracts

2) the fundamental issue of providing objective evidence for management decisions

3) a set of procedures for management review, purchasing, contract review, calibration, etc
4) part of the requirement that provides proof that the quality management system is effective
Decisions as to what must be included in the contract are ------- .

1) the most fundamental part of ISO document 2) the primary focus of ISO 9000
3) less important than the basic set of ISO requirements 4) are made during the contract review
One requirement for the implementation of ISO 9000 is that the company ------ .

1) should ddcumcnt its real process events

2) must establish desirable standards for its activities

3) must follow the quality standards established by ISO and its customers

4) should try to devise preventive measures for its quality management system

The passage mainly talks about ------ . |

1) how ISO 9000 quality standards work

2) what ISO 9000 defines and what it is meant to achieve

3) the requirements for a company’s interactions and contracts

4) why ISO is required for a sound quality management system

It is true that —--— . '

1) 150 was originally used as a measuring tool for improving quality

2) ISO directly provides a continuous improvement discipline for each individual company

3) preventive measures must be used as a basis for developing an improvement discipline

*4) 150 provides opportunities for companies to deviate from their established quality standards
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In general, effectiveness should be measured along three dimensions:
(1) the quality and quantity of the organization’s output, (2) the organization long—run ability to adapt to changing
environments, and (3) the organization’s short—run ability to be flexible in the face of unexpected contingencies.

The word "contingencies” in this passage means -------- .

1) continuances 2) possibilities 3) consternations 4) contradictions

Fill in the blank with the best word at the question 27 through 30.

If productivity were considered on the broader basis of getting maximum ------ from the energy, materials, capital, and
human effort that go into producing a product, we would ----- for ever higher quality.

1) usage / strive 2) losses / produce 3) assemblage / supply 4) requirements / need

Group technology is a dynamic and evolutionary ------- which continues to expand its influence on manufacfuring
systems.

1) product 2) development 3) consumption- 4) manufacturing

A free enterprise system depends upon the willingness of ------ to accept the risks involved in ------- .

1) the peopte , state 2) workers , unionization  3) politicians , elections 4) businesses , competition
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